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No.3+10. 00 2.710X0.500 + 1.500X1.500 + 0.376X0.627X1/2 U 3.72
No.4 2.765X0.500 + 1.500X1.700 + 0.442X0.737X1/2 U 4.10
No.4+10. 00 3.425X0.500+2. 500X 0. 500+1. 500 X 0. 800+0. 330X 0. 550X 1/2 | » 4.25
B#ear 7Y —Fh NO. 3~NO. 4+10
B R MRS - BRI
No.3 (2.200 - 0.712) X1.044 U 1.55
No.3+10. 00 (2.000 - 0.627) X1.044 U 1.43
No.4 (2.200 - 0.737) X1.044 U 1.53
No.4+10. 00 (1.800 - 0.550) X1.044 U 1.31




# = 5 H =z
T M B T =X BAL g
BH#iar 7Y —F NO. 3~NO. 4+10
ST BB A
No.3 (2.200 - 0.712) X1.044 I 1.6
No.3+10. 00 t=10cm I 1.4
No4 (2.200 - 0.737) X1.044 I 1.5
No4+10. 00 (1.800 - 0.550) X1.044 I 1.3
B 77— b NO. 3~NO. 4+10
=4 t=10cm
No.3 2.200X1.044 + 1.500 + 1.540 I 5. 34
No.3+10. 00 2.000X1.044 + 1.500 + 1.210 I 4. 80
No.4 2.200X1.044 + 1.500 + 1.265 I 5.06
No.4+10. 00 1.800X 1. 044 + 1.500 + 1.000 + 0.925 0 5. 30




B 7 ) —h % = Al B =

\ } 2y —k A 2L B
W A | e . . . i o
WE Y MR W P MR | E E Y KR
No. 3 4.53 1.55 1.6

No. 3 + 10.000] 10. 000 3.72] 4.125 41. 25 1.43] 1.490 14.90 1.4 1.50 15.0

No. 4 10. 000 4.100 3.910 39.10 1.53] 1.480 14. 80 1.5 1.45 14. 5

No. 4 +10.000] 10. 000 4.25 4.175 41.75 1.31] 1.420 14. 20 1.3 1. 40 14. 0

+ t=10cm KA V=15.2m3

o

Z 30.000 122. 10 43.90 43.5




Efi= 7 Y —h i S G L i
. . ~—=TA B
il A H . - . fii 2
o Y B & (W m Py R (B P &

No. 3 5.34

No. 3 + 10.000] 10. 000 4.80 5.070 50.70

No. 4 10. 000 5.06/ 4.930 49. 30

No. 4 +10.000] 10. 000 5.30] 5.180 51. 80

o

| 30.000 151. 80
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